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» Competition Day 1 (2014. 11. 4)

£ for

Time Court 1 Court 2 Court 3 Court 4
08:30 ~ 9:30 Offical Traning
10:00 ~ 11:00 1 BC1_1 1) BC1._2 =1 BC1_3 -
11:00 ~ 12:10 £ BC2_1 1) BC2 2 1) BC3_1 311 BC3_2
12:10 ~ 13:10 1 BC2 3 11 BC2 4 1 BC2 5 11 BC2 6
13:10 ~ 14:10 =1 BC2 7 1 BC2 8 =1 BC2_ 9 £11BC2_10

» Competition Day 2 (2014. 11. 5)

Time Court 1 Court 2 Court 3 Court 4
10:00 ~ 11:00 =S BC2.1 =S BC2.2 =& BC2.3 TS BC24
11:00 ~ 12:10 =S BC3_1 =S BC3_2 =S BCI1_1 TS BC1_2
12:10 ~ 13:10 =1 BC1_4 1) BC1_5 1) BC1_4 =1 BC1_7
13:10 ~ 14:10 =11 BC2 11 =11 BC2 12 =11 BC2 13 S11BC2 14
14:10 ~ 15:20 Z1 BC3 3 =1 BC3 4 1 BC3 5 =1 BC3 4
15:20 ~ 16:20 =11 BC4 1 1) BC4 2 =11 BC4 3 -
16:20 ~ 17:30 =S BC3_3 =& BC3 4 =& BC2.5 TS BC2.4

» Competition Day 3 (2014. 11. 6)

Time Court 1 Court 2 Court 3 Court 4
10:00 ~ 11:10 =1 BC1_8 =1 BC1_9 1 BC3_7 =1 BC3_8
11:10 ~ 12:10 =11 BC2 15 11 BC2 16 11 BC4 4 1 BC4 5
12:50 ~ 14:00 =S BC1_3 =S BC2.7 XS BC3 5 -
14:00 ~ 15:10 S11 BC1_10 11 BC2 17 1) BC3_9 S11 BC4. 6
16:20 ~ 18:00 =S BC322xE1 S0 &A1 - -

» Competition Day 4 (2014. 11. 7)

Time Court 1 Court 2 Court 3 Court 4
10:00 ~ 11:40 S0 Al 2 S0 HH 3 S BC322=1 11 BC322=x2
13:00 ~ 14:40 11 BC422=E1 1 BC322=x3 S0 A 4 -

15:00 ~ 14:00 Victory Ceremony




